
Ecoxaouica tlovzéfa

Iaea
'

Armisen L - Unosiigcis - rivulets anavuiotes

AoknoI ② Cfciipnpa Dinfin MÉRM Tywin
⑥ Var

= E④ - (E✗)2
EXC) = Ey LEGEND] = Ey / Var (HY) + (E(xH

= Ey (02*4))+ Ey (Maya))

(EX]=(Ey( E-AND]ʰ=(Ey(m×µ(Y)))&
⇒ varcx) -_ Ey( Kaya))+Ey(m*, G)2) - (Ey(m✗aiYD[

= EyÉ*y('D) + Vary (Maxcy ))
-

Aoknon2_ Ey -_ µ, , Vara)=q2y

MAN)=E(XH)=aY , o} ,y(y)=Var(✗H)=ÑY
And AOKI : EH)=Ey(m(HY))=Ey(aY) -_ any

Varlx) : Ey(02×1>(D) + Vary(Maya ))
= Ey# + Vary (aY)=µy+a2q2



Aoknon3_⑥ It N En Eevae aveogoéguiae can ×
, >¥2s . . _

(nx. PCN -11×1--17--1 , PCN =L / Xitk) -0) .

⑥ E- (g) = EGNIN -
-
n) - PCN=D

P(N=n) =
"

a- 1,2 , . . . Cap . Soapier c-ws In eniaxia)

E-(Sn / N=n) = E-(✗ it . . - +Xn / ×
, ,Xz, . . ,Xn→≠H, Xn=k)

= ÉE(XjlXj≠k) + K = @- 1) EH , /×,#D +K

j-4

Ques PCX;
-
- e /X ; #k)=P¥;¥⇒=¥- = ; ya f- ii. to

e≠k

Enquiries Elxj /Xj#c) = & e. ¥ = § ( 6.6¥ -1) = f- 121 - K)
e⇒
l≠K

EGNIN =D = @ - 1) . § (21 - K) + K = ¥ .cn-D - ¥ K + K =

= ¥ (na ) - k n¥

E- (N) -_ ¥
,

n

"! ! --6

Enopierus ECSN) = F- (6-1) - k . 0 = 21

Eniowg EH ,) = f- l = % ,
ECN) --6 ⇒

⇒ E-(g) = ECN) - EAD Nvexifei Va irxotl .



ArM0 E(%) = ¥
,
pnay.EU/N=k)--

•
•

= ¥
,

PNG) E(XD . . . END = ¥
,
pN⇔µ✗ᵗ = 1%4×7

Arenr E(Mn) = ¥
,

pnlk)E(Ñ1N=k) -

_ ¥
,

pnlk) ECX
"

)
✗

= E-
✗ ( ¥

,
PNCKJX

"

) = E×(ÑNCXD

A

⑥p%÷⇒cé=,⇒⇔
a

⑧ pies = e-
' e'
*
= [ e-a aⁿn?

h=O

=%z° + e-dʰzk + e-
✗ ¥722k + . .

-

= ÉÉ Pj
Zi

,

Onur pj
= { ?¥¥?- , j --94253k ,

- -
-

° ,
Sia qopc.at

oi

Enquiries n ✗ & KY
,
◦ nor Y - Poisson (a) .

Eaffaᵗa : Goo Yep tee Ply -.j ) =p, (j )
Kai ✗=kY,KENT

:* PIG) = E(z✗) = E(zk
"

) = E-(④
'

1) = Fy (E)
Eoio 15×6-7 = e- tea

#
= 15
,
(E)

,
énovp

,
__ e-
'e'

2-

M NDangering a ay 4-Poisson (a) .

Aoeno_7 TvwpÉz==zye 12-1<1
E- 0

Tlapapojifor 29 he gets : Ew apioxéo peeps



(z¥ {
klkt) - - ' CK- n +DZK

- n

,
a ≥n

0
,
Kan

☆

⇒ É⇒d&zn Z" = Iklk-D.ilk-n-DZK-n-K-n.in
! É (E) zk=z¥É◦ (E) zk= _É=n{÷÷Z"" =

En en

[ (E)⇒ paan]
Fa to E-for pips :

C-najugeia penopoifee v8.0
¥ =⇔t÷⇒=E⇒. I :÷⇔= :-#d¥ = C-D. i¥s=É3

•

Enquiries {÷É◦(kIÉ={⇒÷n+ ,
⇒ É◦ (E) ¥=¥÷⇒nH
-

Areno-8-pi.cz] = =
= ¥-3 + ¥-4

2-2-62-+8

A = 522%-1*2=-12 , B. = 5¥÷ /
*+

= - I

⇒ E.⇒ = - ± ÷. - ÷ ±.it#a-+:IT---aJ--&E
.

"

+ ÷
"

=

"

+3.111
"

]

Enquiries P(X=n) :& . (E)
"

+ :-(¥ )
"

non . . _



Plan) =L ! ! + f. (E)
"

?⃝ =

=L PAID + { PA ;D ,

onor
×
,
-Geoml 'k)
E- Gaul%)

-

Cap .
anoaxiiov)

Atkno pia ] = g- =p ⇒ ✗ =L

É⇔=z+j=⇐ =L - ¥2 - Éz§

ftp.0/wp'wv2Dofeoiapc-zvwAoxnon8iY0kioMHp(x--n)=3-Eg)
"

- * (E)
n

,
n-0.12 , _ _

-

AOMORI PIT:o) = tg , PIT > o ) -_ ¥ ⇒ F- G) =L
,

P(T≤ x / T >D= 1- e-•
×

,

✗ so
,

P(T≤x /-1=03--1 , × > ◦

↳
pierces ya ×>◦ : E. (x) -_ 4. 1+3,4 - e-

"

) =L - ¥é
"

tlpoqavies Efx) -0 ya ✗<◦

0
,

✗ < 0

FT F-A) = { 114 , Ko

1- g- e-
•×

,
✗so

.



•

:µ,-_ fxdtlx) = 0.14 + { a. ¥ aé"✗dx= 43,7

It µÉon apai Oapenopoioe-vaunoageortikantocfias.M-i-EH-EHT-D.is/T--o)-Etf>D. PIT>D
= 0.1-a + f- • ¥
-

Aom

1=4
-
-
- - -

-
-
- -

-

314 _

' k,
-•_É
-0 ti I 1

2 2 3

P(x=o)=& , PA -

- 2) = ! ' Et) -- O - E
, -1,2-14-1

f-
✗

"D= { %
,

'

,

?≤≤% [§ '4✗d×+!&✗d✗=( 44 , 2 < ✗ ≤3 =3-2O ,
K ≥ 3

-

AoknonI • Is i

① 1--1+3=1 ,
take) ⇒ ¥1s)=§éˢᵗdt = 's

② F'G) = nt
"

,
1- c- Gid ⇒ F-(s) = [éˢᵗnt"dt=n.%=n

-

③ F'A) = aeat.tw ⇒ É G) = fe-staeatdt-s.la , a < Refs)

④ FCC
"

) - F-(E) =L, F'A)=o,t≥◦,t≠c •

Ecs) -_ féˢᵗdFH) = e-%fc-Y-t-a-J-fe-%f1-ldt-e.sc

⑤ F'A) = flt)
•

Éls)=§éˢᵗfH)dt =
- tsffklde-st.is/e-?a-)ff-Fe-stdfh-))t--0



= If + § f-⇔
t

⑥ F-G) = f
'

G) flt ) = / Flu)dk
flo)=o {⇒ ◦

⇒ Ics) = Fg + § Fcs) ⇒ Écs) = SICS)- FCO)

-
Z

AMMI ⑨ P ( 2- ≤ z ) = P(✗+ '/ ≤ z) = / PCY ≤ 2- -⇒ f×'⇒dx
2- 0

= fl - e- it
-×' ) ✗ e-
"
dx = §? e-

"'d✗ →e- MZ Fed -"✗d✗
◦

◦

= 1- e-
"
- ( ed

-D? a) = 1- e-
*
- µ÷( e-

"
- e-MY

=
I + ¥> e-

"
- ¥> e-
it

= ÷,@ e-⇒ - ¥ G-e-F)

⑥ X- Exp (a) ⇒ #G) = ¥s } ⇒ ÉzG) = ÉCSF, G) = I*⇒⇔
Y - Expfu) ⇒ E.G) = Is
= '÷d¥s -⇒ = # ÷s - ¥7s =

= %, §éˢᵗdF×H) - ¥, !%ˢᵗdE, G) = ¥, Écs) -4=>1%15
Enquiries ¥1s) =

>
Écs) -¥ F)G) ⇒

'

⇒ Fz A) =¥, F×G) -¥ F, H)

=

Añn P(✗< Y) =! Play/✗=x)dF×H
= ! Ply > a) df✗k) -_ [e-" d Fix) = É

,
G)

0



PCX >Yet / X>4) =/ PIX > Yet / ×>Y, Y :=y)dFyCy)
y

=fyP( ×> yet / X >yil -_g)dfylyt.JP/xsy+t/ky)dFyly)y--yP(X-t)dFyly)--PfX> t)

-.µµµ
, , ,,, ,,, ,,,,,,
= I - e-A- e-MZ + e-Gti)

2-

fzcz)=ae→ᵗ+pét? @ +g) e-
E'Mᵗ

✗

Its)=féˢ¥Hdt=÷+¥s - ,?j!
0

-

-

Enw Tai - Explti ) , Fsi - Expfui)Aoknon if

Tize o ✗pots or apxtior A : Ta : min /TA , ,
- - .

> Tan)
e
'

un apxtior B : Tpjmin ftp.t , - -543m)

Erw
'

o ovvoaikosxpwos eat > ripwoy : 1- = maxfla
,

Europe Ta~E×p(a) , ✗⇒ it " - + dn
@egjpznzco)

TB~Exp(µ) , M -

_ Mit . - +pm

Tina ✗ fairs)

⇒ Ect) = 1- e-
"
_

e-ME @+✗ e-
@ +Mt

① PITACTB ) -_I
*↑ a

-
8 •

② Et) -_ ftf.HIdt-ft.ae?l-dt+fpee-M-dt-fa-y)e-A+Mtdt
O o

⇒ ÷ - ÷.


